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2.4
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Phormidium _tenue
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Aphanizomenon spp.

Chroococcus spp.

Wicrocystis spp.

Oscillatoria spp.

Oscillatoria tenuis
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Lyngbya spp.

Anabaena__spp.
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48 112

Achnanthes _spp.

Amphora spp.

Acanthoceras spp.

terionella spp.
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Aulacoseria _spp.

>[N

Bacillaria paradoxa

Cocconeis _spp.

Cyclotella spp.
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Cymbella spp.
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Diatoma _spp.

Diploneis spp.

Fragilaria spp.

Gomphonema __spp.
Gyrosigma spp.

Welosira spp.
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SPD.
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ESLS]

acicularis

Nitzschia _spp.
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Pinnularia _spp.

Rhoicosphenia _spp.

Stephanodiscus _spp.

Surirella spp.

Skeletonema spp.
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Synedra acus

Synedra ulna

Synedra _ spp.

Tabellari Op.

Urosolenia__spp.
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Ankistrodesmus — spp.

Actinastrum spp.

Carteria spp.

Chlamydomonas — spp.

Chlorogonium spp.

Closterium spp.

Coelastrum spp.

Chodatella spp.

Cosmarium  spp.

Crucigenia spp.

Dictyosphaerium spp.

FElakatothrix spp.

Fudorina spp.

Kirchneriella spp.

Gloeocystis spp.

Golenkinia spp.

Micractinium spp.

MNicrasterias spp.

Mougeotia spp.
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Oocystis spp.
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Others (Quadrigula spp.)
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Tabellaria spp.

Tetraedron spp.

Tetraspora spp.
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[#aTlomonas spp.
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Ceratium spp.
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Wicrocystis spp.

Oscilatoria spp.

Phormidium spp.
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Achnanthes spp.

Asterionella spp.

Aulacoseria spp.

Bacil

aria paradoxa

Cocconeis _spp.

Cyclotella spp.

Cymbella spp.

Diploneis spp.
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Nitzschia spp.

Synedra_spp.

Synedra__acus

® & B

Scenedesmus __spp.

Ankistrodesmus spp.

Chlamydomonas spp.

Wicrasterias spp.

Staurasirum __spp.

9 )T B

[Cryptomonas —Spp.

a1—JLEE

[Zuglena spp.

WMo W

TR

AR

£ 7] #

35




